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Note : 1) All questlons are compulsory.

2) Figures on the Tlght side shows marks.
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Q.1 A) Explain Glot?allsation and its impacts ‘ |

9
ei ! OR
| o l
- T Explain groiq'nh in information technology and communication due to globali tuon
" B) Explain Libelt'alisation and its all characteristics in detail. i 6
f | OR : :
: . t
‘ Explain Privatisation and its all characteristiqs in detail.
, 9

. 2 A) State and explain characteristics of human rights "
OR |

Explain the evolution of human rights. ; .

B) Answer in brief Ecology and all its branches.
- OR

Explain components of environment.

.3 A) Whatis the_env:jronment degradation. Explain all types in detail.
2123 A 7
' OR

: |
v |

|
Give the causeé; of env:ronmental degradaﬂon

PR P

(<))

B) Whatis theilrnpact of env:ronmehtal degradation on human life.
OR

J 1

‘ Explain congept of sustainable development and its components.

. Write short notes on five among following : 15
I : o
-1) Group stressors .

y m. e e =

2) Erosion

| 3) Food chain
4) Acidrain

5) Migration | j
'6) Environmental stressors. '

e

t

Scanned by CamScanner



veD- RYBSC. L »
ive:

fi
C.% A) Fillin the blahk with correct options: Attempt any su.
in P
()  Privatisation is done to overcomé __—————

0N 0

(CorrJPsipn / Errosion / Curruption)
(i) ___ "' | isthe major reason for
( '“de}ﬁedness / higher output cost/ lower input cost)

(iii) lmpaf':t of IT and communicationis ___—————

‘tarmers suicide.

(FDI } Cost effectiveness / Delicencing)

(iv) The n&egative impact of migration to foreign countries 1S
(lndebtedness / Communication / Brain drain)

(v) is not branch of Ecology

Z

(Astronemy / Eco-physiology / Eco-system) Ecology)

(vi)  Food chain always starts with _ life..

{Plant life / Primary consumer / Animal life)
lfe.

(vii)  Food chain always ends with
(Plant life / Primary consumer / Animal life)

(viii) Liberalisation means
(Delicen’cing / integrating worlds economy / Redusing investment in PSU)

: ]

(ix) GlotPalisation means
4 : | .
(Defi’ce cing / integrating worlds economy / Redusing investment in PSU)

(x)  Privatisation means .
(Delicericing / integrating worlds economy / Redusing investment in PSU)

!

B) State true}”or falls (any five)
(i)  Delicencing is done in de,‘fence products.

(i)  Deli - ing is not done in Industrial Explosives.

(iii)  Privatisation is done in PSU to get good customer service.
; (iv) Efficiengy can be achievéd in privatisation.
"' (v)  Indeptefiness is not a major reason for farmers suicide.

(vi) Brain drain happen due t,o foreign migration. _ |

(vii) All ntn-living thingé are considered in biosphers.

by (viii) Ecol, gy is science of relation between organisms and environment.

'J (ix) Ecology is branch of biolpgy.
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) Match the Ecolbums : (any five)
P

3

(i) Privatisatjon

(ii) Farmﬁrs “suicide
(i) Globalisation
~(iv) Brainl&.irain
(V) Fo'reigllgn }exchange reserve

(i) lmpact of ITC
(vii) New téchnolpgy
(viii) Ecoloéy |

(ix) Behavioural ecology

' (x) Air pollutidn

S

\
(3) FOUNDA}TION COURSE - 11
|
|
(a) Acid Rain qw
(b) Deinvestrnent in PSU “
1
(c) Higher input cost \
(d) Integration of worlds economy !‘
' P \
(e) Cause of migration )
|
() Effect of rmigration l_
(g) 24 x 7 operational _,
‘ .
(h) Cosf eftective :
. 1 N
(i) Branchof biology 7
()  Branch of ecology '\
|
|
——The End — '
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